Ruhewald Rheinhessische Schweiz
Bereich 1 mit (F) Feenwald und (A) Archewald

1 &
Eingang
=
oo oS
P @ & @;n &g
on Bm O o
o B " &

o ol
o OO

I
Fgm

o’

= Bgn
[ 2

@m

B

) @
o B &

& @n B
On =
5 5"
%

. Gt

O g
©m G B

& Gun

Ge

Sun

Bm w RO

@m

o
G Bm B " o

G
Gw o Gm G G
B

~ @

m
Y L am
Bm "®

N
. emé)@mt @ Lo

S
om O @

- &=
om B g om
Gm
@ G Gm
om
o

o

Steinbruch

e e
g o
Ew g8

an

G v

s Gn &, .
B Gy - @@ "®
P [
e o™ Bow N
@ &
G
O B G g, O
B
B
@m-®

Bra

=

Zum Bereich 2
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FuBweg zum Bereich 2
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